S 15~ 18 B FDE A=R-A—FOHBEHK B=#X-TOv/HIHEHK
B 4L K4 BERRAVN | RBRAVL  BRKRAVN| R—FR
1 Ak Bt 56.98 50.00 6.98
2 |MH Etf 56.67 50.00 6.67
3 |IB = 31.95 1.95 30.00
4 |[R $KKER 30.92 30.00 0.92
5 |BREEZN 30.00 30.00
6 |IUT =R 27.66 13.50 14.16
7 |FHh [BE 26.60 25.00 1.60
8 |KAR = 25.95 25.00 0.95
9 |y BE 23.80 20.00 3.80
10 |BE XiE 22.16 8.00 14.16
11 [ER X 20.04 404 16.00
12 |SUXKH#E 17.30 13.50 3.80
13 |’ HE 17.00 1.00 16.00
14 |3 EZR 16.67 10.00 6.67
15 |K¥ B 15.25 12.33 2.92
15 |fBR JRiK 15.25 12.33 2.92
17 |FE i 14.16 14.16
18 |& avik 13.23 6.25 6.98
18 |[BRE 1&KE 13.23 6.25 6.98
20 |/ 13.16 12.33 0.83
21 |XBEa—oa 11.92 9.00 2.92
22 |RERY hf5 8.95 8.00 0.95
23 |RRX SR 8.92 8.00 0.92
24 |hOER RRIE 8.83 8.00 0.83
25 |B&fM 8.28 1.30 6.98
26 |HE HF 7.98 1.00 6.98
27 |IhNBE=E 7.42 6.50 0.92
28 |5ttt HIE 7.20 6.00 1.20
29 |fkEE R# 6.98 6.98
0 |tk EE 6.89 6.25 0.64
31 |EE K 6.84 6.25 0.59
32 |KF HEKk 6.67 6.67
32 |BIR EH 6.67 6.67
34 |MNER MR 6.42 5.50 0.92
35 | Ik WEX 5.64 4.04 1.60
3B |EH HFE 5.64 404 1.60
3B |EFEZN 5.64 4.04 1.60
35 |KE Ki 5.64 4.04 1.60
39 |RA/NFImXK 5.37 2.45 2.92
40 |k @ 422 1.30 2.92
M |HE E& 4.05 2.45 1.60
42 |FMHE B 3.92 1.00 2.92
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S 15~ 18 B FDE A=R-A—FOHBEHK B=#X-TOv/HIHEHK
B 4L K4 BERRAVN | RBRAVL  BRKRAVN| R—FR
43 | KR &% 3.80 3.80
43 |IUA #K 3.80 3.80
45 |[HR#T EX 3.55 1.95 1.60
46 2% =&/ 3.25 1.65 1.60
47 |RRE % 2.92 2.92
48 |HB Ed&E 2.78 1.95 0.83
49 |¥) EE 2.60 2.60
49 (% EH 2.60 2.60
49 |ZR @BE 2.60 2.60
49 |J\KIREIDER 2.60 1.00 1.60
49 |FF H— 2.60 1.00 1.60
49 |EEF K 2.60 1.00 1.60
55 R L 2.44 1.95 0.49
56 |RB I# 2.37 1.65 0.72
57 |—iI E&F 2.15 2.15
57 |XIF BHMRA 2.15 2.15
59 |FEHE &3 2.02 1.30 0.72
60 |[FR B= 1.95 1.00 0.95
61 |HZBEEHA 1.90 1.90
61 |LL)IEAER 1.90 1.90
61 |FF Fth 1.90 1.90
64 |[FTi#L FRIE 1.89 1.30 0.59
64 (dbFT  #h 1.89 1.30 0.59
66 |{EBE 2 1.83 1.00 0.83
67 |TEFTSERER 1.70 1.70
68 |[LLO—EA 1.67 1.00 0.67
69 (Bl BE 1.64 1.00 0.64
69 |[K&B == 1.64 1.00 0.64
| RFEZE 1.60 1.60
72 |FKR EBERE 1.59 1.00 0.59
72 |HO I 1.59 1.00 0.59
74 |HAM HE 1.54 1.00 0.54
75 |&W EF 1.45 1.00 0.45
76 |[#RiE KA 1.40 1.40
76 |&® EW 1.40 1.40
76 |EAX GR 1.40 1.40
76 |BE FE 1.40 1.00 0.40
76 |HREFEAER 1.40 1.00 0.40
81 | EBFHF 1.15 1.15
82 | KW AR 0.95 0.95
83 |/kH fMF 0.92 0.92
83 |IU BX 0.92 0.92
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S 15~ 18 B FDE A=R-A—FOHBEHK B=#X-TOv/HIHEHK
B 4L K4 BERRAVN | RBRAVL  BRKRAVN| R—FR
85 |ZAHEN 0.83 0.83
85 |LIF B 0.83 0.83
87 |Wug % 0.79 0.79
87 Mk K 0.79 0.79
89 |FH ER 0.76 0.76
90 |HH XA 0.74 0.74
91 |7 IEAER 0.72 0.72
91 (L EZ 0.72 0.72
o1 (BB & 0.72 0.72
91 | KARKKIKER 0.72 0.72
95 |HH EX 0.70 0.70
9% |HH EF 0.69 0.69
97 |H% (G 0.68 0.68
98 |HIR AWK 0.67 0.67
99 |[EAAKIBE 0.64 0.64
100 |[EF Kk 0.59 0.59
100 |ZAK BAX 0.59 0.59
102 [JEdr HI4E 0.54 0.54
103 |iEiD K 0.49 0.49
103 |ithE (5 0.49 0.49
103 |HIATFAARER 0.49 0.49
103 |fFiE HR 0.49 0.49
103 [P IISR 3% 0.49 0.49
103 |7KEF KH 0.49 0.49
103 |/hith i 0.49 0.49
110 |#TE& B{= 0.43 0.43
110 [#EXR EX 0.43 0.43
112 |LLBREEN 0.40 0.40
112 |HLE A 0.40 0.40
114 | FEK 0.37 0.37
114 |ILX FIE 0.37 0.37
114 )& = 0.37 0.37
117 | K\ EiE 0.34 0.34
117 ;K BEX 0.34 0.34
119 |[#F fK 0.32 0.32
119 |SAE{EAEH 0.32 0.32
121 |FH 1K 0.30 0.30
121 |[fgR M 0.30 0.30
123 |EZE K 0.28 0.28
123 |&£F% BHE 0.28 0.28
123 |%Bik FEA 0.28 0.28
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S 15~ 18 B FDE A=R-A—FOHBEHK B=#X-TOv/HIHEHK
B 4L K4 BERRAVN | RBRAVL  BRKRAVN| R—FR
126 (HO &X 0.26 0.26
127 |HLE IE 0.24 0.24
127 |B¥& ¥ 0.24 0.24
129 |#&E KA 0.23 0.23
130 |EH 0.21 0.21
130 |fE f&KER 0.21 0.21
130 [BEKIEAER 0.21 0.21
133 |&£F B8 0.19 0.19
134 |5 £&E 0.00 0.00
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